ID:1210 P- 1

P g SR
ESR S TR = 1 =i Q1 IV NI )
By 3% A FI07T4£07 H 08 H eI Dt e/ 90 kv (Biir)
fh 4 JE Hh & Wae | %K F e T fE g2y ]
X R AbE 10. 00| AHxf 630 6,300 1,512 1,265 1,080
ZiED H & 10. 00| AHxf 8 80 3, 996
H ¥ £ ¥ 15. 00| AHxf 318 4,770 1,296 759 378
X D FiE 10. 00 | #H%f 500 5,000| 1,037 924 594
H % i 3. 00| FHxf 341 1,023 1,404| 1,145 756
i A ] 1L 1. 00| FHxf 210 210 1,080 712 540
& | sool A%t 8| 10| 3,240| 2,633] 1,620
AN B 5. 00| FH%} 142 7101 2,484 2,129 1, 296
N 0.40| k%t | s20] 328 162 154 97
= N 4. 00| FH%f 57 228 1,080| 1,040 972
F g | 400kt sos| 3,232| 1,728 1,375 756
RN & 5. 00| FHxf 22 110| 1,944| 1,532 1,080
g B| 5.00 fxt| 624 3,120] 2,160 1,644| 756
-~ & I 5. 00| FH%f 9 45 2,430 2,370 2,160
N 0.15|4A%F| 1,800 210 92| 87| 86
A7 k= b AL E 3. 00 | FHx} 270 810 2,592 2,461| 2,160
ot g, 2. 00| FH%f 11 22|  2,808| 1,856 756
H 7% w5 5. 00 | #H %} 142 7100 2,700 2,462| 1,404
-k £ % 10. 00 | #B56f 210 2,100| 2,160 852 540
A= 4 S 5 10. 00 | #H%f 41 4101 2,160 1,533| 1,512
£ A L 10. 00 [ #H % 579 5,790 1,728| 1,350 864
LA £ ¥ 10. 00 | #H % 758 7,580 1,188| 1,016 108
=1 & R £ ¥ 4, 00| FH*} 352 1, 408 1, 080 852 756
L xon A 4. 00 | FH%f 6 24 6, 696
AEMEE O 0. 10| FA%F 1, 100 110 162 106 65
ZDEH E % 0. 20| FH%f 900 180 54 52 51
LU E % 0. 20 | FHxf 150 30 76




ID:1210 P- 2
P g SR
ESR S TR = 1 =i Q1 IV NI )
RHE A FI07T4£07 H 08 H EFER S 29 kv (Biir)
i 4 JE = Wae | %K F e T fE g2y ]

5 U H & 10. 00| AHxf 3 30 5,443

Yajfa— H & 10. 00 [ #H%f 41 410 5, 508
K i Al 5. 00| FH%f 250 1,250| 6,480| 4,000| 3,024
BT ao0 Fxt| e8| 272|  4,752| 4,344| 3,348
VaVAVE VS X K 0. 30 #Hx} 800 240 432 373 346
% A4 0. 50 | FHx} 2,184 1,092 617 469 386
7T A 1N i 5. 00 | FHx} 217 1,085 3,456 3,049| 2,484
iR Feall 16. 00 [ #H%f 596 9,536 5,184 4,182| 2,376
& H | 15.50| Mxk| 53| 8,574| 5,910| 4,984 3,240
AVavE 7 4 U E | 13.00| fE%F 141 1,833| 4,585| 2,812 540




